N = 0l & At & Ml A

20202 20 HHEAXNSTRAANENMSERAH SH

AR ARABR YA SN MEANDSD
FH: HUKNMSSELIGZL (MY - SAILSLUHU X /0L XL IHRA0 L)
el UM SSHLXZAG (L AXNSRNZALNSESA) (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
2 Ael M et A 16,098,480 19,563,960 A 3,465,480
= 8,202,000
< 7,896,480
ME AT WS 16,098,480 19,563,960 A 3,465,480
= 8,202,000
< 7,896,480
HUXMSSELIBZL (MY - SAIFLUHEX/0H 16,098,480 19,563,960 A 3,465,480
NLIAML)
= 8,202,000
=) 7,896,480
AUXASSHELTRAAG (LEAXNATNRAENEL S 16,098,480 19,563,960 A 3,465,480
M)
= 8,202,000
< 7,896,480
= CHRILPGHH 2+ 2 X & AFS 9,798,480 13,768,960 23,970,480
= 7,902,000
= 1,896,480
403 Ut S S A201 & 9,798,480 13,768,960 A 3,970,480
= 7,902,000
) 1,896,480
01 X SHHX2E = 9,798,480 13,768,960 23,970,480
= & 2ILPGHH 2+ 2 X & AL 9,798,480
= 7,902,000
& 1,896,480
UM ELELRNEA=A 5,540,000 5,014,000 526,000
403 A X EHHS 20l A 5,540,000 4,614,000 926,000
TAXEH A= X 5,540,000 4,614,000 926,000
OZANADSSXNS XA 1,490,000
OLPGA S NS S ALY (KA 4,050,000
MeSIHAANEIMA 340,000 361,000 221,000
308 XXIEHH SOl A 340,000 361,000 A 21,000
01 XML EES 340,000 361,000 221,000
OMSISHAHMII D (EIOIHS)ES ALY 243,000
OLPIFAAISAIE A EE A ALY 97,000
LPGAE MEHIA(EX) 420,000 420,000 0
= 300,000
< 120,000
403 X SHHE A0l & 420,000 420,000 0
= 300,000
= 120,000
01 XM A=2EE 420,000 420,000 0
OLPGASE MNETHIZSAIE 420,000
= 300,000
< 120,000




N = 0l & At & Ml A

20202 20 HHEAXNSTRAANENMSERAH SH

Az BsoidER M 0IUEX &S
FH: HUKNMSSELIGZL (MY - SAILSLUHU X /0L XL IHRA0 L)
el UM SSHLXZAG (L AXNSRNZALNSESA) (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
gsoHNgd=F 77,241,520 76,658,040 583,480
= 880,000
< 76,361,520
Off LA I &HS 20,526,490 19,570,051 956,439
= 880,000
< 19,646,490
HUXMSSELIBZL (MY - SAIFLUHEX/0H 12,526,490 11,570,051 956,439
NLIAML)
= 880,000
=) 11,646,490
AUXASSHELTRAAG (LEAXNATNRAENEL S 12,526,490 11,570,051 956,439
M)
= 880,000
< 11,646,490
ATHAS Ol A XI 2 2 AHLH(XEAT) 1,450,000 930,000 520,000
207 A O] 500,000 300,000 200,000
02 & AR I 500,000 300,000 200,000
OMMENUX SE2elAIAR— RS 500,000
307 21201 A 400,000 0 400,000
02 It S AIHE L 400,000 0 400,000
OATHHM UK ADEEINL ALY 400,000
308 XX EHH SOl 530,000 10,000 520,000
10 3/ 2SOHUHSZAEEALS I 530,000 10,000 520,000
OdTHEMHXRAASK A 30,000
O8RS =& S X 500,000
401 A& HIZ 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
O3S 37120 X & S AHY 20,000
ATHANUXIES AL (2 EXA) 2,046,900 1,642,200 404,700
403 X SHHE =0l & 2,046,900 1,642,200 404,700
01 AXISHHA=2E = 2,046,900 1,642,200 404,700
CIAITH A4 Off LA Kl == &4 KI & A 990,900
OATHAO X A2 X2 AHS 1,056,000
F=AHBHEIASHEH S ALY 180,000 0 180,000
308 AHXIEHHSOIA 180,000 0 180,000
01 HIXNHHNBMNELS 180,000 0 180,000
AT ASHE PRSI AMY 180,000
Ol LA XI Al 25 CH &f 400,000 400,000 0
403 MtXISHH S =0l & 400,000 400,000 0
01 AXSHHA=2E = 400,000 400,000 0




Az gsagas M ol XA
H: UK MESELINBEEL (LS - %i?l%E—:‘OHL‘III/OHHIIEJXP%JH%*)
el UM SSHLXZAG (L AXNSRNZALNSESA) (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
CIAIZOfl LA KT AL 24 AL KT 400,000
=M 20l L Xl 2 A S ALK& 130,000 75,000 55,000
201 Lt 30,000 30,000 0
03 &Ar2 I 30,000 30,000 0
O=MI U XNAAZEE 2L 30,000
307 21201 A 100,000 45,000 55,000
04 QIZFSHALAIR B = 100,000 45,000 55,000
O=HM O 0l X A ALK& 100,000
UM SLELRNAFA 322,000 406,000 A 84,000
201 ¢er24| 250,000 334,000 A 84,000
01 At 22l 250,000 334,000 A 84,000
Ogpt=2tl 250,000
ONUXNZEALATHMAUXAILSEE 250,000
307 2201 A 72,000 72,000 0
02 It M AHE L 72,000 72,000 0
OTHMEMUKESAZ 20,000
OLAX0ISHAALMIGNHEH 52,000
Ol KI&E ALY 1,009,250 3,468,400 A 2,459,150
201 Let2d] 40,000 187,000 A 147,000
05 S Her2E | 40,000 187,000 A 147,000
DZ=2C8 s UeoE=Z WA 40,000
401 Al HI K 201 I 51,000 200,000 A 149,000
01 A& HI 51,000 200,000 A 149,000
O33J 20 HXI&E A 51,000
402 RIZ2EX20| A 574,000 0 574,000
01 2IZEH 2 A B (KM &) 574,000 0 574,000
O33J120UH X E AL 574,000
403 A X EHHS =0l A 344,250 3,081,400 A2,737,150
01 X SHHX2E= 344,250 3,081,400 A2,737,150
O=SXAIE 0L X &2 A 239,250
OsZIl0UHXZ L& XX AS 105,000
ATHE UK SSSAIAMG (SN XA) 4,898,340 3,496,520 1,401,820
403 MHXISHHE X201 & 4,898,340 3,496,520 1,401,820
01 AXSHMA=2EE 4,898,340 3,496,520 1,401,820
O X =X &AL 4,898,340
REFHMEIINEZ 1,540,000 600,000 940,000
= 880,000
< 660,000




42 gEHKARE SH LR D
H: UK MESELINBEEL (LS - %i?l%E—JMIL‘III/OHHIIEJXP%JH%*)
SR UK NS ST AN (LA R AIE M S5 H) CERED
% - 4 14
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 1,540,000 600,000 940,000
= 880,000
< 660,000
01 X SHMA2E X 1,540,000 600,000 940,000
OsSEdIIXNES 1,540,000
= 880,000
< 660,000
AMIHMEHHUXIZ2ULHE AN AR RS 300,000 0 300,000
207 A O] 168,000 0 168,000
02 & AHIH I 168,000 0 168,000
OAMMHMAIUXIS2LIHEAIAEIN L (EZ2LS) 168,000
403 A X EHHS =0l A 132,000 0 132,000
01 X EHHMA=LE L 132,000 0 132,000
OATHMUXNZUBHBANABSX (FZ2LYS) 132,000
SIITHOH R A2 AN A 2= 250,000 0 250,000
403 Mt SHHSA=0l& 250,000 0 250,000
01 HXHMA=LE X 250,000 0 250,000
OXII MR AZAIAIAE RS 250,000
HRes(HUX AL (& - SAINLLUHH X /0l H X 8,000,000 8,000,000 0
EDNED) E-19)]
WEAHNKS(LEATATNIALSMELSIA) 8,000,000 8,000,000 0
ZASZHUHRNAE LIS 8,000,000 8,000,000 0
702 JISHES 8,000,000 8,000,000 0
01 JI3dE= 8,000,000 8,000,000 0
OZ3&=2Z0UXNAMESdII=Ed 8,000,000
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